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1. ` 39030 is divided between 'A' and 'B' in such

a manner that amount given to 'A' on C.I. in 7

years is equal to amount given to 'B' on C.I. in

9 years. Find the part of 'A' ? If the rate of in-

terest is 4% per annum.

` 39030 'A' 'B' 4%

'A' 'B' 

9 'A' 

(A) ̀  18750 (B) ̀  19280

(C) ̀  20280 (D) ̀  18280

2. A father deposits ` 22,360 in the name of his

sons Shanker Chaudhary and Shiv Chaudhary

in the bank. Age of sons at the time of deposi-

tion was 14 years and 17 years respectively.

Father puts a condition in front of bank offic-

ers that when both of his sons by the age of 30

years then both are to paid equal amount. If

compound rate of interest is 
2

16
3

%, then how

much money he deposited for each of them?

` 22360

2
16 %

3

(A) ̀  8640, 12,720 (B) ̀  8460, 13720

(C) ̀  8640, 13,720 (D) ̀  8640, 12270

3. Divide ` 20816 between A and B, so that A's

share at the end of 7 years equals to B's share

at the end of 9 years and rate of Compound in-

terest being 4% per annum?

` 20816 A B

4% A B

(A) 10000, 10816 (B) 11000, 10000

(C) 9000, 11816 (D) 12000, 8000

4. ` 260200 is divided between Ram and Shyam so

that the amount that Ram receives in 3 years is

the same as Shyam receives in 5 years. If the

interest is compounded annually at the rate of

4% per annum, then Ram's share is

Compund interest (Type-10)

` 260200 

5

(A) 125000 (B) 135200

(C) 152000 (D) 108200

5. ` 16,820 is divided between two brothers of age

27 years and 25 years. They invested their

money at 5% per annum compound interest  in

such a manner that both will receive equal

amount at the age of 40 years. The share (in `)

of elder brother is

27 25 ` 16,820 

5% 

40 

` 

(A) 8,820 (B) 8,000

(C) 8,280 (D) 8,410

6. Dividing ` 15494 between 'A' and 'B' In such a

manner that share of 'A' after 9 years will be equal

to share of 'B' after '11' years at rate of 20% of

compound interest, then find share of 'A' ?

` A B 20% 

A B

A `
(A) 9144 (B) 9414

(C) 8000 (D) 9140

7. ` 22830 is divided into two parts and given to A

and B and they are told to spend at rate of 5%

per annum. A spends for 9 years and B spends

for 11 years and then both are left with equal

amount. Find the original sum given to each of

them?

` 22830 A B

5% A 9

B 11

(A) ̀  10,830, ̀  12000

(B) ̀  11,700, ̀  16000

(C) ̀  9870, ̀  10,000

(D) None of these/ 
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Solution
1. (C) Let Part of a = ̀  x

and Part of b = ` y

x + y = ` 39030

Rate = 4%

ATQ,

X

7 9
104 104

Y
100 100

  
X 676

Y 625

So,  X = 
676

39030
1301

 = ` 20,280

2. (C) Let elder son's share = ` x

And younger son's share = ` y

Rate = 
2

16
3

% = 
1

6

ATQ,

13 16
7 7

x y
6 6

    

3
x 7 343

y 6 216

So, x = 
343

559
× 22360 = ` 13720

And y = 
216

559
× 22360 = ` 8640

3. (A) Let A's share = ` x

and B's share = ` y

ATQ,
7 9

104 104
x y

100 100

 

2
x 26 676

y 25 625

So, x = 
676

1301
 × 20816 = `10816

y = 
625

1301
 × 20816 = ` 10000

4. (B) Total amount = ̀  2,60,200

Let amount of Ram = ` x
and amount of Shyam = ` y
ATQ,

x

3

104

100

 
  

 = y

5

104

100

 
  

 

2

x 26 676

y 25 625

   
 

So, x = 
676

1301
× 260200 = ̀  1,35,200

So, Ram's share = ` 1,35,200

5. (A) Let elder brother's share = ` x

Younger brother's share = ` (16820 – x)

ATQ,

x

13
5

1
100

  
 

 = (16820 – x) 

15
5

1
100

  
 

x = (16820 – x) 

2
21

20

 
 
 

400x = (16820 × 441) – 441x

x = 
16820 441

841


 = ` 8820

6. (A) Let share of  A = x

Share of B =15494 – x

ATQ,

9

1
100

R
x =

11

(15494 ) 1
100

R
x


15494

x

x
=

2
20

1
100


15494 x

x
=

25

36


15, 494

1
x

=
25

36


15, 494

x
=

61

36

 x =
15494

36
61



= 254 × 36

= ` 9,144

7. (A) Let A's share = ` x

And B's share = ` y

ATQ,

9 11
5 5

x 1 y 1
100 100

 

2
x 19 361

y 20 400

So, x = 
361

761
 × 22830 = ̀  10830

       y = 
400

761
 × 22830 = ` 12000


